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T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X[ 00101 £ T.1-@ DIP.GX$ 400 DP=1.80

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAGEX 1.=L=14
6 400 )= 14.000 m
9 RYZFLLRAY—T BT EHRT=L=14
$ 400 g 14.000 m
3 R EWRT—T7 L R T=1=14
6 400 )= 14.000 m
4 Rk —MAR L R L=L=14
g 14.000 m
5 A —h AR T=1=14
150mm X 50m & 2fZ 410 iAFx b= 14.000 m
6 EKEER BAKHER=L=14
g 14.000 m
7 GHEERREINT T AT 7 VMR ST T =2 A = P R A N B = 145240
15ecmPA T B 28.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 40 I+ AR+ I BRD) *0. 023%
& 0.032 m3 &%= (14%2+0)*0. 023%0. 05
9  AHEEREUEELFEIA BHO0.20m3 AEERE A T =1 BB+ T RN =14% 140
SRR 10em L T B 14.000 m2
10 AHEEAREUELFSHA BH0.20m3 SRR T =JE g+ T R N = 14% 140
AR 10em L T g 14. 000 m2
11 EFK4EHE] BHO0.20m3 PEH THI=4E FxMEE=14%1%2. 28
g 31.920 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.600 m3 1%0.2%6
13 R T (R R R A - Bk ) A= T T={EE=14
2.3m<#REIE=<=2.5m ~'y/k5|k s 14.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*Ig*4E=14%1%0. 93
7yvar AR R 2 13.020 m3
15 ERME (B RE) BH0.20m3 IR TUS=4E R+ E*1E=14%1%1. 25
RC-40M & + & _kE[ED g 17.500 m3
16 B R (kg ) BH0.20m3 PR TU4=E Foxg#iE=14%1%0. 1
M-308 B2+ & S5 [E 6 )= 1.400 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R A 0.600 m3 1%0.2%6
18 B R (ki ) BHO0.20m3 B PERR GOk &) =1L Fo & Wi Ff=—1%14%0. 142
7yvar AR R 2 -1.988 m3
19 EEERFEIEWE As BEAA ALy (PR EIEDR) =Rl A i FEk /R X =140, 05
g 0.700 m3
20 ERXPEFEMAIE As BERT ALY (AR IR) =ik i A+ X =14%0. 05
g 0.700 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BRI =l i R+ /R X =14%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.700 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BEREM (15 IR) =i+ JE X =14%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.700 m3
23 A +IERE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +l ) - 545=31. 9
+# 10.0kmPA T DIDHE B 32.520 m3 2+0+0.6+00
24 AHEET (HEE-BEJE)5eml)E A8 B =FE FoH g+ E A I R =14%1+0
HEBRIEAs 7 T7145 )= 14.000 m2
25 AEET (BE-HJE) Seml fE A IH=IE F* g+ A I Hi=14%1+0
FAEBRIEAs TIA(L )= 14.000 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X[E 00102 £+ T.1-@ DIP.GX$ 400 DP=1.20

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAA R 1L.=L=27
6 400 )= 27.000 m
9 RYZFLLRAY—T BT B TT=L=27
$ 400 g 27.000 m
3 R EWRT—T7 L B T=1=27
6 400 )= 27.000 m
4 Rk —MAR L BIR L=L=27
g 27.000 m
5 A —h AR T=1=27
150mm X 50m & 2fZ 410 iAFx b= 27.000 m
6 EKEER BAKRER=L=27
g 27.000 m
7 GHEERREINT T AT 7 VMR ST T =2 A = PR R A N =2 7240
15ecmPA T B 54.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.062 m3 AHEEE=(27%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB+ I RN =27% 140
SRR 10em L T B 27.000 m2
10 EFEREUELAHDA BHO0.20m3 S T =JE g+ T A N B =2T% 140
AR 10em L T g 27.000 m2
11 EFK4EHE] BHO0.20m3 PEH THI=4E F*ME+AE=27%1%1. 68
g 45.360 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 1.400 m3 1%0.2%14
13 R T (BRI A - Bk ) R T T=4ERE=27
1L5m<#BHIE=<1.8m ~'v/ivs|k B 27.000 m
14 SRR (B RE) BH0.20m3 HE R T U1=4E B Mg *42=27%1%0. 93
7yvar AR R 2 25.110 m3
15 ERME (B RE) BH0.20m3 R B T US=4E R+ E+1E=27%1%0. 65
RC-40M & + & _kE[ED g 17.550 m3
16 B R (kg ) BH0.20m3 PR TU4A=FE Fexg8=27+1%0. 1
M-308 B2+ & S5 [E 6 )= 2.700 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R A 1.400 m3 1%0.2%14
18 B R (ki ) BHO0.20m3 PR B PERR GOk &) =1L Ko+ Wi FE=—1%27%0. 142
7yvar AR R 2 -3.834 m3
19 EEERFEIEWE As BEAA ALy (R HIED) =Rl i Fk /. X =27%0. 05
g 1.350 m3
20 FERRBEIEMALE As BERRL4Y (RAE 1H) =R TR A+ X =27%0. 05
g 1.350 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BRI = i FEfe /R X =27%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 1.350 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BEREM (15 IR) =ik i+ JE X =27%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 1.350 m3
23 A +IERE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +ll ) — #5485 =45. 3
+# 10.0kmPA T DIDHE B 46.760 m3 6+0+1.4+00
24 AHEET (HEE-BEJE)5eml)E A8 B =FE FoH g+ E A I R =27%1+0
HEBRIEAs 7 T7145 )= 27.000 m2
25 AEET (BE-HJE) Seml fE A IH=IE F* g+ A I R=27%1+0
FAEBRIEAs TIA(L )= 27.000 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X[E 00103 £ T.1-@ DIP.GX$ 400 DP=1.40

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIP#i% 1.=L=76.5
6 400 )= 76.500 m
2 RV FLLR)—THWET A T=1=76.5
$ 400 g 76.500 m
3 R EWRT—T7 L B R 1=1=76.5
6 400 )= 76.500 m
4 Rk —MAR L Bk 1=1=76.5
g 76.500 m
5 A —h AR T=1=76.5
150mm X 50m & 2fZ 410 iAFx b= 76.500 m
6 EKEER WK RER=1=76. 5
g 76.500 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A B N B=T76. 5%2+0
15ecmPA T B 153.000 m
8 BRI IRL SRS T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
5 0.176 m3 EfEEE=(76. 5%2+0)*0. 023*0. 05
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB+ I AN =76. 5%1+0
SHEEIE10em LA T B 76.500 m2
10 EFEERNEUELFGA BHO0.20m3 SRR T =1 BexlE +E AN H=76. 5%1+0
AR 10em L T g 76.500 m2
11 EFK4EHE] BHO0.20m3 P THI=ZE F+ g +E=76. 5% 1*1. 88
g 143.820 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 1.700 m3 1x0.2%17
13 R T (RS R R A - Bk ) R T T=ER=76.5
1.8m<HHHIE=2.0m ~'v/E&y5|$k = 76.500 m
14 EEEHERE (M R) BH0.20m3 PR TUI=4E F*IE+4E=76. 5%1%0. 93
Iyiay bR g 71.145 m3
15 &SRR (BEARHE &) BHO0.20m3 P B T US=4E 5 +1E=76. 5%1%0. 85
RC-40M & + & _kE[ED g 65.025 m3
16 B R (kg ) BH0.20m3 R TUA=FE R+ IE+14E=T76. 5%1%0. 1
M-308 B2+ & S5 [E 6 )= 7.650 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R A 1.700 m3 1%0.2%17
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1L Fo+ & Wi FE=—1%76. 5%0. 142
Iyiay bR g -10.863 m3
19 EEERFEIEWE As BERT ALy (BRHIS) =k AE* 8 X =76. 5%0. 05
g 3.825 m3
20 FERRBEIEMALE As B LSy (IRA5 1R =Tl A+ B X =76. 5%0. 05
g 3.825 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE 130 =i R+ /R X =76. 5%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 3.825 m3
20 FEFEALFRLENE BHO0.20m3 DTr4t BERA T (15 1) =i FEe 5. X =76. 5%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 3.825 m3
23 A +IERE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik T 4y (S Hld) —Fii B 4E=143.
+# 10.0kmPA T DIDHE B 145.520 m3 82+0+1.7+00
24  EiZET (HEE-HJE) Senl/E A8 H=FE S lg + T AE N =76. 5%1+0
HEBRIEAs 7 T7145 )= 76.500 m2
25 AEET (BE-HJE) Seml fE A IH=E FHIE+ AR INH=76. 5% 1+0
BRI EAs I )= 76.500 m2




T TEHEEARE

(7-DEAREMZETERT)

FEAR 1 BLAKE AR L
PR HIES
X 00201

+T2-® DIP.GX¢ 150 DP=1.30

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=3
® 150 )= 3.000 m
9 RYZFLLRAY—T BT EHRT=L=3
é 150 g 3.000 m
3 #EEE BT —7 L EU/RT=1=3
® 150 )= 3.000 m
4 Rk — MR L EURI=1=3
)= 3.000 m
5 A —h AR T=1=3
150mm X 50m & 2fZ 410 iAFx b= 3.000 m
6 IEKEER E/KERER=1=3
)= 3.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - N B =3%2+0
15emlL T )= 6.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.007 m3 &hTEE=(3%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =3%0. 9+0
SRR 10em L T B 2.700 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + I AN H=3%0. 9+0
AR 10em L T g 2.700 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*MEE=3%0. 9%1. 52
)= 4,104 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.360 m3 0.9%0.2%4
13 R T (BRI A - Bk ) R T T=ERE=3
1L5m<#BHIE=<1.8m ~'v/ivs|k B 3.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=AE Exg*%=3%0. 9%0. 67
7yvar AR R 2 1.809 m3
15 EEIERE (R RE) BH0.20m3 IR B T US=4E R #E1=3%0. 9%0. 75
RC-40M & + & _kE[ED g 2.025 m3
16 B R (kg ) BH0.20m3 R T.U4A=FE R #i%E=3%0. 9%0. 1
M-308 & + & o7 S [E D )= 0.270 m3
17 EEERE BHER) BH0.20m3 R T (R - E30) =4E B A LxIEWasiZE A H+f5 Firsk=0. 5%
Iyay R A 0.360 m3 0.9%0.2%4
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1L Ko+ Wi i FE=—1%3%0. 022
7yvar AR R 2 -0.066 m3
19 ARBEFEWLIE As BEAA ALy (R EIER) =Rl i Fe /R X =2. 7%0. 05
)= 0.135 m3
20 ERXPEFEMAIE As BER LSy (S 1B =Rk A R IR X =2. 7%0. 05
)= 0.135 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE HITA0) =R R /R X =2. 7%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.135 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =i A= X =2. 7%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.135 m3
23 A +IERE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -~ 548 =4. 10
+# 10.0kmPL T DIDE A 4,464 m3 4+0+0.36+00
24  EiZET (HEE-HJE) Senl/E IS |H=FE FHlg + I A TN L =3%0. 9+0
HEBRIEAs 7 T7145 P 2.700 m2
25 AEET (BE-HJE) Seml fE AAE |H=1E FHE+ I AR N H=3%0. 9+0
BRI EAs I )= 2.700 m2




T TEHEEARE

(7-1) B KRB AT T (R7)

BEAR 1 Bl KB e L
BHHIED

XfH 00202 +T.2-@ DIP.GX¢ 150 DP=0.90
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAisk T.=L=12.5
® 150 )= 12.500 m
2 RIZFLLR)—THET FRHRL=L~12.5
é 150 g 12.500 m
3 R EWRT—T7 L R T=1=12.5
® 150 )= 12.500 m
4 Rk —MAR L R L=1=12.5
)= 12.500 m
5 A —h IR T=1=12.5
150mm X 50m, & 265471 5A L b= 12.500 m
6 EKEER W/KRER=1L=12. 5
)= 12.500 m
7 EHEERRUINT T AT 7V MR ST T =52 A I AR B N =12, 5%2+0
15ecmPA T B 25.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4R I+ AL+ I BRD) *0. 023%
5 0.029 m3 &EfEEE=(12.5%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 EEEMR A T =S Robg+ i A N 5 =12. 5%0. 6+0
BHEEE10emA T & 7.500 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexlE +IE AN H =12, 5%0. 6+0
EAEIE10emLA T B 7.500 m2
11 EFK4EHE] BHO0.20m3 P THI=ZE R+ g *%8=12. 5%0. 6%1. 12
)= 8.400 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.360 m3 0.6%0.2%6
13 EEHEE (W E) BH0.20m3 PR TUI=4E R+ IEE=12. 5%0. 6%0. 67
Iyay R g 5.025 m3
14 B RE (kg ) BH0.20m3 B T US=4E = #1E+1E=12. 5%0. 6%0. 35
RC-40H R + & L\ [ 6D Ve 2.625 m3
15 ‘B E (W E) BH0.20m3 PR TUA=AE R+ E*%=12. 5%0. 6%0. 1
M-30H & + &> S5 [E 6 g 0.750 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR = 0.360 m3 0.6%0.2%6
17 EEERE BHER) BH0.20m3 RGN IR &) =1L E+ & Wrmm g =—1%12. 5%0. 022
Iyay R g -0.275 m3
18 FREXPEEMALEL As BERA LSy (BEHIFR) =Rl A i FEe /5. X =7. 5%0. 05
)= 0.375 m3
19  ERPEFEWALIL As BEA AL S5 (S 1R =Rl A i Fi+ 5 X =7. 5%0. 05
)= 0.375 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PR I =Rl A Rk /S X =7. 5%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.375 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl i Fe /R X =7. 5%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.375 m3
29 A +TERF BH0.20m3 DTrdt B B =150 +H2 o5 Hik T 88 5 (0 +HAlm) - Hi A5 =8. 4+
+# 10.0kmPL T DID#E )= 8.760 m3 0+0.36+00
23 EREET (BEE-HJE) SemlfE A B =L o+ IE+ AR I H=12. 5%0. 6+0
HABRIEAs TT745 & 7.500 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=E FHlg+ I AE N H =12, 5%0. 6+0
HEBRIEAs 7 T7145 P 7.500 m2




T TEHEEARE

(7-1) B KRB AT T (R7)

BEAR 1 Bl KB e L
BHHIED

X[ 00203 +T.2-(® DIP.K¢$ 150 DP=0.90

NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAH % T.=L=2
® 150 )= 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
é 150 g 2.000 m
3 #EEE BT —7 L EW/RT=1=2
® 150 )= 2.000 m
4 FER—MR T EHR T=L=2
)= 2.000 m
b Amae—h R T =1=2
150mm X 50m & 2fZ 410 iAFx b= 2.000 m
6 EHIERRUINT TAT7 VMRS SR G T =52 1 = R AR B I B =2%2+0
15emPL T B 4.000 m
7 BEERIGIRAL A TR K AL BR= (Bl EE AT B4 I+ AL+ IR *0. 023+
b 0.005 m3 &%= (2%2+0)*0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 SRR T =1 BerlE + I AN H=2%0. 7+0
AHIEE10emPA T P 1.400 m2
9 AHIERBUELFGA BH0.20m3 AR T =1 BB + T A N =2%0. 7+0
BHEEE10emA T & 1.400 m2
10 ‘FHEHI BHO0.20m3 JEHE TH1=JE R+ ig+E=2%0. 7*1. 12
)= 1.568 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.210 m3 0.7%0.2%3
12 EEEHE R (WMUE ) BHO0.20m3 B T UL =3 *IE#1=2%0. 7%0. 67
Iyioay bR g 0.938 m3
13 ERHEE (B RE) BH0.20m3 P B T US=ZE FeslE#48=2%0. 7%0. 35
RC-40HL & + & 7 5 [E g 0.490 m3
14 SRR (B RE) BH0.20m3 HE B T U4=4E R xig#42=2%0. 7%0. 1
M-30HE B + &> S Hh [E 8 )= 0.140 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
Iyay R b= 0.210 m3 0.7%0.2%3
16 B RE (kg ) BH0.20m3 PR BEPERR CHTaR &) =1L Fo+ 48 Wi i FE=—1%2%0. 022
Iyioay bR g -0.044 m3
17 ERBEFEWALEL As BEAA AL S5 (HR I ER) =R A Fi+ 5 X =1. 4%0. 05
)= 0.070 m3
18 FREXPEEMALEL As BER LSy (A5 1) =Rl A i R IR X =1. 4%0. 05
)= 0.070 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (BE HITA0) =R R /R X =1. 4%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.070 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEM T (A8 H) =R A+ = X =1. 4%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.070 m3
21 %4 +1EHE BH0.20m3 DTr4t 7% L E =1 53 +H2 45 Hilk T8 4y (S Hl ) — B4 =1. 56
+# 10.0kmPL T DIDE A 1.778 m3 8+0+0.21+00
22 EiZE T (HEE-HJE) Sen 1@ IS |H=FE FoHlig + I A N =2%0. 7+0
HAEBRIEAs 7I945 P 1.400 m2
23 EREET (BEE-HJE) SemlfE AAE =4 S+ FE N B =2%0. 7+0
HABRIEAs TT745 & 1.400 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X[ 00204 +T.2-@ DIP.K¢$ 150 DP=0.90

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=3
® 150 )= 3.000 m
9 RYZFLLRAY—T BT EHRT=L=3
é 150 g 3.000 m
3 #EEE BT —7 L EU/RT=1=3
® 150 )= 3.000 m
4 Rk —MAR L B R T=1=3
)= 3.000 m
5 A —h AR T=1=3
150mm X 50m & 2fZ 410 iAFx b= 3.000 m
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 FerE + I AN =3%1+0
AR 10em L T i 3.000 m2
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN =3%1+0
SRR 1 0em LA T B 3.000 m2
8 FIHEHI BHO0.20m3 PR THI=2E -+l 8=3%151. 32
)= 3.960 m3
9 EHHEE (W) BH0.20m3 PR T U1=%E sl Z8=3%1%0. 87
Iyay R ER g 2.610 m3
10 B R (kg ) BHO0.20m3 PR TUS=4E Fexg*%=3%1%0. 35
RC-40H R + & o\ [ 6D Ve 1.050 m3
11 EEERE (R RE) BH0.20m3 P B T U4=%E Rl #8=3%1x%0. 1
M-30H & + &> i [E 6 g 0.300 m3
12 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =1L Fo+ 48 Wi i FE=—1%3%0. 022
7yvar AR 2 -0.066 m3
13 EEERBEIEMMEL As BEAA ALy (R HIED) =Rl i FEe /R X =3%0. 05
)= 0.150 m3
14 EFRFEIEME As BERT ALy (A8 1R) =itk i Al X =3%0. 05
)= 0.150 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI = e i R+ /B X =3%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.150 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM T (A8 1H) =TT A+ 2 X =3%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.150 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (S +llm) — #5485 =3. 96
18> 10.0kmLLF DIDE A 3.960 m3 +0+0+00
18 A% T (HEE - #5) Sem 1@ IAE IE=E S g+ E A I SR =3%1+0
HEBRIEAs 7 T745 P 3.000 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I H=3%1+0
BRI EAs I )= 3.000 m2




T TEHEEARE

(7-DEAREMZETERT)

FEAR 1 BLAKE AR L
PR HIES
X 00301

+ 13- DIP.GX¢ 75 DP=1.50

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAAgER 1.=L=2
o 1500 Vs 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
O T5LLT g 2.000 m
3 R EWRT—T7 L R T=1=2
675 )= 2.000 m
4 Rk —MAR L R T=1=2
)= 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx b= 2.000 m
6 IEKEER E/KERER=L=2
)= 2.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I B =242+0
15emlL T )= 4,000 m
8 BRI IRL S T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hTE[E=(2%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =2%0. 9+0
SRR 10em L T B 1.800 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BerlE + I AN HL=2%0. 9+0
AR 10em L T g 1.800 m2
11 EFK4EHE] BHO0.20m3 PR THI=AE Fexg@*i=2%0. 9%1. 64
)= 2.952 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.270 m3 0.9%0.2%3
13 R T (BRI A - Bk ) R T T=ERE=2
1L5m<#BHIE=<1.8m ~'v/ivs|k B 2.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=AE Exg*%E=2%0. 9%0. 59
7yvar AR R 2 1.062 m3
15 EEIERE (R RE) BH0.20m3 IR B T US=4E R #E12=2%0. 9%0. 95
RC-40M & + & _kE[ED g 1.710 m3
16 B R (kg ) BH0.20m3 R TU4A=FE Foxg#iE=2%0. 9%0. 1
M-308 & + & o7 S [E D )= 0.180 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R A 0.270 m3 0.9%0.2%3
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1L Ko+ Wi i fE=—1%2%0. 007
7yvar AR R 2 -0.014 m3
19 ARBEFEWLIE As FEM ALy (HR ISR ) =l e i fie /5 K =1. 8%0. 05
)= 0.090 m3
20 ERXPEFEMAIE As BER LSy (A5 1B =Rk i FER IS X =1. 8%0. 05
)= 0.090 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE 10 =Rl R+ /R X =1. 8%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.090 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =i fd /= S =1. 8%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.090 m3
23 A +IERE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +ll ) — #5485 =2. 95
18> 10.0kmLL F DIDE A 3.222 w3 2+0+0.27+00
24  EiZET (HEE-HJE) Senl/E IAE |H=FE FHlig + I A TN L =2%0. 9+0
HEBRIEAs 7 T7145 P 1.800 m2
25 AEET (BE-HJE) Seml fE AAE |H=1E FHE+ I AR N H=2%0. 9+0
BRI EAs I )= 1.800 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X[ 00302 +T.3-@ DIP.GX¢75 DP=1.20
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAAgER 1.=L=3
o 1500 Vs 3.000 m
9 RYZFLLRAY—T BT EHRT=L=3
O T5LLT g 3.000 m
3 HEE BT —7 L EU/RT=1=3
675 )= 3.000 m
4 B —Mi T B T=1=3
)= 3.000 m
5 A —h AR T=1=3
150mm X 50m & 2fZ 410 iAFx b= 3.000 m
6 IEKEER E/KERER=1=3
)= 3.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - N B =3%2+0
15emlL T )= 6.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.007 m3 &hTEE=(3%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =3%0. 6+0
SRR 10em L T B 1.800 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + I AN H=3%0. 6+0
AR 10em L T g 1.800 m2
11 EFK4EHE] BHO0.20m3 PR THI=AE Fex@*i=3%0. 6%1. 34
)= 2.412 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.240 m3 0.6%0.2%4
13 EEERE (WHER) BH0.20m3 IR B T UL =3 R * @ Z8=3%0. 6%0. 59
Iyay R g 1.062 m3
14 B RE (kg ) BH0.20m3 R TUS=4E F*IE*4=3%0. 6%0. 65
RC-40H R + & L\ [ 6D Ve 1.170 m3
15 ‘ERMEE (B RE) BH0.20m3 IR 5 T U4=3E e # g Z8=3%0. 6%0. 1
M-30H & + &> S5 [E 6 g 0.180 m3
16 ISR (MR &) BH0.20m3 PREE T (kR4 - JEE50) =JE R A LoiEWasiZE A H+ {5 Frk=0. 5%
7vvar AR 2 0.240 m3 0.6%0.2%4
17 EEERE BHER) BH0.20m3 R GPERR GHTRR ) =1L B8 Wi i fE=—1%3%0. 007
Iyay R g -0.021 m3
18 THEEXBETEMALER As BERA ALy (BEHIFR) =Rl A FEe /5 X =1. 8%0. 05
)= 0.090 m3
19 ARBEFEWLIE As FEM LSS (RAE IR =l e i Fie /5 £ =1. 8%0. 05
)= 0.090 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PR 1) =Rl A FEe /S X =1. 8%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.090 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A8 1) =Rl Fe /R X =1. 8%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.090 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +RI ) — =44 =2. 41
+4#5 10.0kmLL F DID%E B 2.652 m3 2+0+0.24+00
23 EREET (BEE-HJE) SemlfE IS B =AE S IE + I AR N5 =3%0. 6+0
FAEBRIEAs 744 )= 1.800 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=FE FoHlg + A N =3%0. 6+0
HEBRIEAs 7 T7145 P 1.800 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X[# 00304 +T.3-@ RRVP$ 75 DP=1.20

10

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAIE% L=L=1
675 )= 1.000 m
2 fEEE =S EHRT—7 T R T=1=1
675 g 1.000 m
3 FEIE —MR L IR T =11
g 1.000 m
4 FEF—b BHRT=1=1
150mm X 50m,// % 25 0IAF» J= 1.000 m
5 SHEERRUINT TA77)V ML AU T =42 A R A8 oA B - N = 1%2+0
15emPL T )= 2.000 m
6 BEERRI5IRL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.002 m3 &hEEE=(1%2+0)*0. 023%0. 05
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + T A N =1%0. 6+0
AAEIE 1 0cm LA T Vs 0.600 m2
8  ERLEANEUELAA BHO0.20m3 SREER A T =1 BexlE + I AN H =10, 6+0
EAEIE10emLA T B 0.600 m2
9 ‘&M BH0.20m3 PR THI=AE Fex@*i=1%0. 6%1. 34
)= 0.804 m3
10 B R (kg ) BHO0.20m3 PR TUI=AE E+g*%E=1%0. 6%0. 59
Iyioay bR g 0.354 m3
11 ERHEE (B E) BH0.20m3 P B T US=ZE Rl 8=1%0. 6%0. 65
RC-40HL & + & 7 5 [E g 0.390 m3
12 B R (kg ) BHO0.20m3 PR TUA=E F*IE4E=1%0. 6%0. 12
M-303 & + & > 7 6 [E o g 0.072 m3
13 EEERE (WHER) BH0.20m3 PR RRAZERR CHTaR ) =4 o & W i Al =— 1 1%0. 006
Iyay R )= -0.006 m3
14 EFRFEIEME As BEMALAS (HREIES) =R i f = £ =0. 6%0. 05
)= 0.030 m3
15 EEERBEIEMMEL As BEA ALy (S 1) =Rl A ii FEk /R X =0. 6%0. 03
)= 0.018 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEMA TE R (R ANEE) =R A+ = X =0. 6%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.030 m3
17  PEREALFLEME BHO0.20m3 DTr4t BEAA T (A5 1) =Rl i Fe /R X =0. 6%0. 03
AsHll - Codifl (%) 2.0km A T DID 4 g 0.018 m3
18 384 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +R ) i 37%=0. 80
+4#5 10.0kmLL F DID%E 2 0.804 m3 4+0+0+00
19 Hh%ET (HEE-¥E)3cnl /@ A B =AE S E + I AR N =1%0. 6+0
BRI EAs I )= 0.600 m2
20 EfZE T (HEE-HJE) SenlfE ARAE |H=FE FoHlg + A N F=1%0. 6+0
HEBRIEAs 7 T745 P 0.600 m2




T TEHEEARE

(7-DEAREMZETERT)

FEAR 1 BLAKE AR L
PR HIES
X 00401

+T4-@® DIP.GX¢ 100 DP=1.50

11

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi %k T=L=1
$ 100 )= 1.000 m
9 RYZFLLRAY—T BT EHiRTIAL=]
6 100 g 1.000 m
3 #EEE WU —7 L EI/RT=L=1
$ 100 )= 1.000 m
4 Rk — MR L EIRI=L=1
)= 1.000 m
5 A —h AR T=L=1
150mm X 50m & 2fZ 410 iAFx b= 1.000 m
6 IEKEER wKERER=L=1
)= 1.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A i e A B I B =1%2+0
15emlL T )= 2.000 m
8 BRI IRL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.002 m3 &hEEE=(1%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + I A N =1%0. 9+0
SRR 10em L T B 0.900 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BerlE + AN H =120, 9+0
AR 10em L T g 0.900 m2
11 EFK4EHE] BHO0.20m3 PEHI CH1=ZE R gEs48=1%0. 9%1. 67
)= 1.503 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.180 m3 0.9%0.2%2
13 R T (BRI A - Bk ) R TR T=ERE=1
1L5m<#BHIE=<1.8m ~'v/ivs|k B 1.000. m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*IE*4E=1%0. 9%0. 62
7yvar AR R 2 0.558 m3
15 EEIERE (R RE) BH0.20m3 R B T US=4E R #E1Z8=1%0. 9%0. 95
RC-40M & + & _kE[ED g 0.855 m3
16 B R (kg ) BH0.20m3 R T.U4=4E FoxgE#iZE=1%0. 9%0. 1
M-308 & + & o7 S [E D )= 0.090 m3
17 EEERE BHER) BH0.20m3 R T (R - E30) =4E B A LxIEWasiZE A H+f5 Firsk=0. 5%
Iyay R A 0.180 m3 0.9%0.2%2
18 B R (ki ) BHO0.20m3 B PERR GOk &) =1 K+ W F=—1%1%0. 011
7yvar AR R 2 -0.011 m3
19 ARBEFEWLIE As BEAA ALy (R EIER) =Rl i Fe /R X =0. 9%0. 05
)= 0.045 m3
20 ERXPEFEMAIE As BER LSy (A5 1E) =Rk R IR X =0. 9%0. 05
)= 0.045 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (HE 10 =i R /R X =0. 9%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.045 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =i A& X =0. 9%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.045 m3
23 A +IERE BH0.20m3 DTr4t 7 - IEHR=H1 53 +H2 53 ik TR 4y (S +lm) -~ 548 =1. 50
18> 10.0kmLL F DIDE A 1.683 m3 3+0+0.18+00
24  EiZET (HEE-HJE) Senl/E IAE |H=FE FHlg + I A TN A =1%0. 9+0
HEBRIEAs 7 T7145 P 0.900 m2
25 AEET (BE-HJE) Seml fE ARG B =L Fokiig + i F& N B =1%0. 9+0
FAEBRIEAs TIA(L )= 0.900 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

12

XfH 00402 +T.4-@ DIP.GX¢ 100 DP=1.20
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
$ 100 )= 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
6 100 g 2.000 m
3 #EEE WU —7 L EW/RT=1=2
$ 100 )= 2.000 m
4 Rk —MAR L R T=1=2
)= 2.000 m
5 ik —h BRI =1L=2
150mm X 50m & 2fZ 410 iAFx b= 2.000 m
6 IEKEER E/KERER=L=2
)= 2.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I B =242+0
15emlL T )= 4,000 m
8 BRI IRL S T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hTE[E=(2%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =2%0. 6+0
SRR 10em L T B 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
AR 10em L T g 1.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E Fx =250, 6%1. 37
)= 1.644 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.180 m3 0.6%0.2%3
13 EEERE (WHER) BH0.20m3 R B T U1 =4 R *E1ZE=2%0. 6%0. 62
Iyay R g 0.744 m3
14 B RE (kg ) BH0.20m3 R TUS=4E F*IE*4E=2%0. 6%0. 65
RC-40H R + & L\ [ 6D Ve 0.780 m3
15 ‘ERMEE (B RE) BH0.20m3 IR 5 T U4=3E e # g Z8=2%0. 6%0. 1
M-30H & + &> S5 [E 6 g 0.120 m3
16 ISR (MR &) BH0.20m3 PREE T (kR4 - JEE50) =JE R A LoiEWasiZE A H+ {5 Frk=0. 5%
7vvar AR 2 0.180 m3 0.6%0.2%3
17 EEERE BHER) BH0.20m3 RGN GHTRR &) =4 =+ %8 B F=—1%2%0. 011
Iyay R g -0.022 m3
18 THEEXBETEMALER As BERA LSy (BEHIFR) =Rl A FEe /S X =1. 2%0. 05
)= 0.060 m3
19 ARBEFEWLIE As FEM LSS (RAE IR =l e i fie 5 S =1. 2%0. 05
)= 0.060 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PR 1) =Rl A RIS X =1. 2%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.060 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (S 1) =Rl Fe /R X =1. 2%0. 05
AsHil - Codifl (E55) 2.0km A T DID 4 & 0.060 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +R ) — =74 =1. 64
+4#5 10.0kmLL F DID%E B 1.824 m3 4+0+0. 18+00
23 EREET (BEE-HJE) SemlfE A B =AE S IE + I AR N5 =2%0. 6+0
FAEBRIEAs 744 )= 1.200 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=FE FoHlg + A N A =2%0. 6+0
HEBRIEAs 7 T7145 P 1.200 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X[A 00403 £+ T.4-@ RRVP¢$ 100 DP=1.20

13

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAii % T=L=6
$ 100 )= 6.000 m
2 fEEE =S EHRT—7 T R T=1=6
6 100 g 6.000 m
3 FEIE —MR L IR T =16
g 6.000 m
4 PR —h EH/RT=1=6
150mm X 50m,// % 25 0IAF» J= 6.000 m
5 GEERREINT T AT 7V ML SHAEY) W T =525 9L B B« AR S+ N B =6%2+0
15ecmPL T )= 12.000 m
6 BEERRI5IRL SRR TR 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.014 m3 &hTEE=(6%2+0)*0. 023%0. 05
7 AREEAREUELURDA BHO0.20m3 AL T = BB + T A N =6%0. 6+0
AAEIE 1 0cm LA T Vs 3.600 m2
8  ERLEANEUELAA BHO0.20m3 SRR A T =1 B & + T A N H=6%0. 6+0
EAEIE10emLA T B 3.600 m2
9 ‘&M BH0.20m3 PR THI=4E FxME4=6%0. 6%1. 37
)= 4,932 m3
10 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=6%0. 6%0. 62
Iyioay bR g 2.232 m3
11 ERHEE (B E) BH0.20m3 P B T US=%E FexlE78=6%0. 6%0. 65
RC-40HL & + & 7 5 [E g 2.340 m3
12 B R (kg ) BHO0.20m3 R T.U4=4E R+ g#%=6%0. 6%0. 1
M-303 & + & > 7 6 [E o g 0.360 m3
13 EEERE (WHER) BH0.20m3 PR RZERR CGHTRR &) =4I o8 W i F=— 1%6%0. 01
Iyay R )= -0.060 m3
14 EFRFEIEME As BEMALAS (HREIES) =R i f = £ =3. 6%0. 05
)= 0.180 m3
15 EEERBEIEMMEL As BEA ALy (AR 1) =Rl A i Fe /R X =3. 6%0. 05
)= 0.180 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEMA TE R (R ANEE) =R A+ = X =3. 6%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.180 m3
17  PEREALFLEME BHO0.20m3 DTr4t BEAA T (AE 1) =Rl i Fe /R X =3. 6%0. 05
AsHll - Codifl (%) 2.0km A T DID 4 g 0.180 m3
18 384 5@ BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 (B +A ) 5574 =4. 93
+4#5 10.0kmLL F DID%E 2 4.932 m3 2+0+0+00
19 &h%ET (HEE-¥E)5eml /& IS B =AE FH g+ I AR N =6%0. 6+0
BRI EAs I )= 3.600 m2
20 EfZE T (HEE-HJE) SenlfE ARAE |H=FE FoHlig + I A TN =6%0. 6+0
BABERIEAs 7745 Ve 3.600 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

XM 00501 Y@  SGP-VD ¢ 50 DP=0.90

NO b4,/ 3i#s -~k B g HAL EHEKX
1 SEAER (AT HEfF T ik T=L=4
6 50 )= 4,000 m
2 BRI — ML R T=L=4
)= 4.000 m
3 ARae—h R T =L=4
150mm X 50m & 262410 iA Fx b= 4,000 m
4 EHIERRUINT T AT 7 VMRS SR G T =52 4 = P8 AR B I B =4%2+0
15emPL T B 8.000 m
5 BEERIGIRAL AL TR K AL Bl = (Bl EE AT B4 S+ AL+ IR *0. 023%
b 0.009 m3 &%= (4%2+0)*0. 023%0. 05
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN H =40, 6+0
EEEE 10em Pl T b 2.400 m2
7 AREEAREUELURDA BHO0.20m3 AEERE A T = BB + T A N =4%0. 6+0
SAEE 1 0em Pl T 2 2.400 m2
8 FIHEHI BHO0.20m3 I TH1 =4 5 sig*ZE=4%0. 6%1. 01
)= 2.424 m3
9 EHHEE (W) BH0.20m3 PR B T U1=%E sl 78=4%0. 6%0. 46
Iioay R LR )= 1.104 m3
10 B R (kg ) BHO0.20m3 R TUS=4E F*IE4E=4%0. 6%0. 45
RC—40HL = + &> S [E 8 = 1.080 m3
11 ERMR (B ) BHO.20m3 M B T U4=2E Foslif#i72=4%0. 6%0. 1
M-30H & + &> i [E 6 g 0.240 m3
12 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k Ko+ Wi i Ff=—1%4%0. 003
7yvar AR 2 -0.012 m3
13 ARRBETEWALIE As . BEAA ALy (R EIER) =Rl i Fe /R X =2. 4%0. 05
)= 0.120 m3
14 FEERBEEEMALER As BER LSy (S 1E) =R A i R IR X =2. 4%0. 05
)= 0.120 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R /R X =2. 4%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.120 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TR (A8 1H) =R A= X =2. 4%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.120 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) -~ 548 =2. 42
18> 10.0kmLLF DIDE A 2.424 m3 4+0+0+00
18 Ei%ET (HIE-HJE)Senl)E IS |H=FE FHlg + A TN B =4%0. 6+0
HEBRIEAs 7 T745 P 2.400 m2
19 &h%ET (HEE-¥E)5eml /& AAE |H=1E FH g+ I AR N H=4%0. 6+0
BRI EAs I )= 2.400 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

XM 00502 JerE@  SGP-VD ¢ 50 DP=0. 65

NO b4,/ 3i#s -~k B g HAL EHEKX
1 SEAER (AT HEfF T ik T=L=4
6 50 )= 4,000 m
2 BRI — ML R T=L=4
)= 4.000 m
3 AT —b AR T=L=4
150mm X 50m & 262410 iA Fx b= 4,000 m
4 EHIERRUINT T AT 7 VMRS SR G T =52 4 = P8 AR B I B =4%2+0
15emPL T B 8.000 m
5 BEERIGIRAL AL TR K AL Bl = (Bl EE AT B4 S+ AL+ IR *0. 023%
b 0.009 m3 &%= (4%2+0)*0. 023%0. 05
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN H =40, 6+0
EEEE 10em Pl T b 2.400 m2
7 AREEAREUELURDA BHO0.20m3 AEERE A T = BB + T A N =4%0. 6+0
SAEE 1 0em Pl T 2 2.400 m2
8 FIHEHI BHO0.20m3 | TH1=4E 5 g ZE=4%0. 6x0. 76
)= 1.824 m3
9 EHHEE (W) BH0.20m3 PR B T U1=%E sl 78=4%0. 6%0. 46
Iioay R LR )= 1.104 m3
10 B R (kg ) BHO0.20m3 R TUS=4E F#IE*4E=4%0. 6%0. 2
RC—40HL = + &> S [E 8 = 0.480 m3
11 ERMR (B ) BHO.20m3 M B T U4=2E Foslif#i72=4%0. 6%0. 1
M-30H & + &> i [E 6 g 0.240 m3
12 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k Ko+ Wi i Ff=—1%4%0. 003
7yvar AR 2 -0.012 m3
13 ARRBETEWALIE As . BEAA ALy (R EIER) =Rl i Fe /R X =2. 4%0. 05
)= 0.120 m3
14 FEERBEEEMALER As BER LSy (S 1E) =R A i R IR X =2. 4%0. 05
)= 0.120 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R /R X =2. 4%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.120 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TR (A8 1H) =R A= X =2. 4%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.120 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) - 548 =1. 82
18> 10.0kmLLF DIDE A 1.824 m3 4+0+0+00
18 Ei%ET (HIE-HJE)Senl)E IS |H=FE FHlg + A TN B =4%0. 6+0
HEBRIEAs 7 T745 P 2.400 m2
19 &h%ET (HEE-¥E)5eml /& AAE |H=1E FH g+ I AR N H=4%0. 6+0
BRI EAs I )= 2.400 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L
B HIER

X 00503 /K#kke: PP¢25 DP=1.10

16

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL-2
g 2.000 m
2 FEET—b R T=1=2
150mm X 50m,// % 25 Hr0IAF» J= 2.000 m
3 GHEERREINT T AT 7 VM SHAEY) B T =525 0L R B« ARSI B =2%2+0
15ecmlL T )= 4,000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl EEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hTE[E=(2%2+0)*0. 023%0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T = BB + T A N =2%0. 6+0
AAEIE 1 0cm LA T Vs 1.200 m2
6 ERLERNEUELAA BHO0.20m3 SRR T =1 BerlE + T AN H=2%0. 6+0
EAEE10emLA T B 1.200 m2
7 EIKHEEI] BHO0.20m3 PR THI=AE Fexig@*i=2%0. 6%1. 18
)= 1.416 m3
8 BB (FEhE I ) BHO.20m3 MR TUL=4E Forfigs =240, 6%0. 43
Tyiay AR g 0.516 m3
9 EEME (B R) BH0.20m3 P B T US=%E FeslE #48=2%0. 6%0. 65
RC-40# & + & 7 5 [E g 0.780 m3
10 B R (kg ) BHO0.20m3 R T.U4=FE R #E=2%0. 6%0. 1
M-30 & + & > 7 S [E o = 0.120 m3
11 EEERE R R) BH0.20m3 PR RAZERR CHTRR &) =4I Fox 8 W i F=— 1%2%0. 001
Iyay R g -0.002 m3
12 FEREEIEMAIL As JFERA ALy (B HIER) =Rl i Fif+ )5 X =1. 2%0. 05
)= 0.060 m3
13 EEZEEIEMIR As BER AL 5y (AR H) =R i Fe /2 S =1. 2%0. 05
)= 0.060 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE M (R HIED) =i A+ < =1. 2*0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.060 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =1. 2%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.060 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=11 45 +H2 45+ 40 45 (B +RI ) — =% =1. 41
+4#5 10.0kmLL F DID%E B 1.416 m3 6+0+0+00
17 & T (EE-¥E)5eml /& IS B =AE S IE + I AR N5 =2%0. 6+0
FAEBRIEAs 744 )= 1.200 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=FE FoHlig + A TN =2%0. 6+0
BABRIEAs 7745 2 1.200 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L

17

B IS
X[ 10101 HHR1-1B.P &% LT DP=1.80
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE ST T =4l A PR A N B = 1%2+1. 8
15emPL T )= 3.800 m
2 BRI IRAL SRR T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.004 m3 EHEEE=(1%2+1. 8)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ IR N =1%1. 4+0
AAEIE 1 0cm LA T Vs 1.400 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerlE AN F =11, 4+0
EAEE10emLA T B 1.400 m2
5 RHEY T BSHIRKHY PEH THI=4EF*ME*E=1%1. 4%1. 032
ANT] 5 1.445 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=1E E-xE*E=1%1. 4%1. 548
)= 2.167 m3
7 R (AR - B L) SRR TR T=ERE=1
2.5m<HBHIE=<2.8m N'v/F&us|Hk B 1.000 m
8 BB (FEhE I ) BHO.20m3 R TUL=4E Forfigsge=1%1. 4%1. 23
Tyiay AR g 1.722 m3
9 EEME (B R) BH0.20m3 PR B TUS=ZE FerlE#8=1%1. 4%1. 25
RC-40# & + & 7 5 [E )= 1.750 m3
10 B R (kg ) BHO0.20m3 PR TU4=FE Foxg#ig=11. 4%0. 1
M-30 & + & > 7 S [E o g 0.140 m3
11 EEERE R R) BH0.20m3 PR RAZERR CHTaR ) =4 o Wi Al =— 1 1%0. 142
Iyioay R LR )= -0.142 m3
12 FEREEIEMAIL As FERA ALy (B EIER) =Rl i Fif+ )5 X =1. 4%0. 05
)= 0.070 m3
13 EEZEEIEMIR As - BER AL 5y (AR 0 =R i Fe /2 S =1. 4%0. 05
)= 0.070 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (R HED) =i A+ < =1. 4%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.070 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe /R X =1. 4%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.070 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +RI ) — =74 =1. 44
15 10.0kmPL T DIDME g 3.612 m3 b5+2. 167+0+00
17 & T (EE-¥E)5eml /& A 1B =E FH g+ I AR IR =1%1. 4+0
FAEBRIEAs 744 )= 1.400 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=E FoH+lg AR IR =1%1. 4+0
HEBRIEAs 7 T745 P 1.400 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L

18

B IS
X[ 10301 MHR1-3E.P i LT DP=1.20
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SRAED) B =545 AT B PR H S« AR BN =0, 75%2+1
15emPL T )= 2.500 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfzEE=(0. 75%2+1)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 8+0
AAEIE 1 0cm LA T Vs 0.600 m2
4 EREERNEUELAA BHO0.20m3 SHEER A T = FexlE +IE AN HL=0. 75%0. 8+0
EAEE10emLA T B 0.600 m2
5 KEEY b BUREKHY PR THI=ZE F# g +%=0. 75%0. 8%0. 616
ANT] 5 0.370 m3
6 ‘FIHEE] BHO0.20m3 PRI TH2=2E -+l *%8=0. 75%0. 8*0. 924
)= 0.554 m3
7 R (R R A - B ) SRR T T=ER=0.75
1L5m<#BHIE=<1.8m ~'v/ivs|k B 0.750 m
8 BB (FEhE I ) BHO.20m3 B T U= R *4E=0. 75%0. 8%0. 79
Tyiay AR g 0.474 m3
9 EHHEE (W) BH0.20m3 R TUS=AER+lF+E=0. 75%0. 8%0. 65
RC-40# & + & 7 5 [E g 0.390 m3
10 B R (kg ) BHO0.20m3 IR B T UA=HE = #E+1ZE=0. 75%0. 8%0. 12
M-30 & + & > 7 S [E o g 0.072 m3
11 EEERE R R) BH0.20m3 PR RRAZERR (HaR ) =4 e & Wi Afi=—1%0. 75%0. 006
Iyay R )= -0.005 m3
12 FEREEIEMAIL As JFERA AL Gy (B HIER) =l A i Ff+ )5 X =0. 6%0. 05
)= 0.030 m3
13 EEZEEIEMIR As - BERA AL Sy (AR 1H) =R i Fe 2 X =0. 6%0. 03
)= 0.018 m3
14 PEREALEEIERE BH0.20m3 DTr4t BER E My (PR HED) = i+ < =0. 6%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.030 m3
15 PEREALFLEME BH0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =0. 6%0. 03
AsHil - Codifl (%) 2.0km A T DID 4 & 0.018 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 3574 =0. 37
+4#5 10.0kmLL F DID%E B 0.924 m3 +0.554+0+00
17 ST (HEE-#E)3cnl /@ A B =AE FHIE+ I AR N H=0. 75%0. 8+0
FAEBRIEAs 744 )= 0.600 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=1E FoHlg + AR N A =0. 75%0. 8+0
HEBRIEAs 7 T745 P 0.600 m2




T TEHEEARE

(7-DEAREMZETERT)

Fepr 1 BlKEAMR L

19

B IS
X[ 10401 BHR1-4E.P 4L T. DP=1.20
NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SHAED) B =545 AT R R H S« AR BN =0, 75%2+1. 4
15ecmPL T )= 2.900 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfEEE=(0.75%2+1. 4)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I A NS =0. 75%1+0
SRR 1 0em L T B 0.750 m2
4 EREERNEUELAA BHO0.20m3 SRR T =JE g+ T AR N 5=0. 75%1+0
EAEE10emLA T B 0.750 m2
5 KEEY b BUREKHY PE | THI=E Kl +%8=0. 75%1*0. 628
ANT] 5 0.471 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=E B+ *E=0. 75%1%0. 942
)= 0.707 m3
7 R (R R A - B ) SRR T T=ER=0.75
L5m<#EHIE=<1.8m ~'v/&v5|ik s 0.750 m
8 BB (FEhE I ) BHO.20m3 R T UL=3E R+ EiZE=0. 75%1%0. 82
Tyiay AR g 0.615 m3
9 EEME (B R) BH0.20m3 H B T US=4E 5 *E%7ZE=0. 75%1%0. 65
RC—40H R + & 7 FE[E D 2 0.488 m3
10 B R (kg ) BHO0.20m3 B T U4=FE g #3%8=0. 75%1%0. 1
M-30HE B + & S Hf [E o = 0.075 m3
11 EEERE R R) BH0.20m3 PR RAZERR CHTRR &) =4 Fox & Wr i f=—1%0. 75%0. 01
Iyay R g -0.008 m3
12 EERBEEMALE As BEM LS5 (BRAEER) =R R AR X =0. 75%0. 05
)= 0.038 m3
13 ERRBEFEMALEL As . FEA ALy (A5 1R =R Ak i F+ 5 X =0. 75%0. 05
)= 0.038 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE M (B HIER) =i A+ R X =0. 75%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.038 m3
15 PEREALFLEME BH0.20m3 DTr4t BERS T (AE 1H) =i FE+ /R X =0. 75%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.038 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HR ) — 5574 =0. 47
+4#5 10.0kmLL F DID%E B 1.178 m3 1+0. 707+0+00
17 & T (EE-¥E)5eml /& IS 1B =JE FH g+ I AR N H=0. 75%1+0
BRI EAs I )= 0.750 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=FE FoHlg + I AE N R =0. 75%1+0
HEBRIEAs 7 T745 P 0.750 m2




T TEHEEARE

(7-DEAREMZETERT)
R 1 BCKEATRR L

20 H

B HII
XM 20001 RO  WI1. 0%L3. 0%HO. 90
NO bkt 4,/ B~k B MR T EER
1 AHEERRUINE T A7 7V SHEE U T =8H 54T B R AR I B =3%2+2
15ecmPL T B 8.000 m

2 EEBIGIRA

RIS ) M X AL L= (RS 5 I S A BN B50) 0. 023%

& 0.009 m3 &hTE[E=(3%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =3%1+0
AAEIE 1 0cm LA T Vs 3.000 m2
4RIV T BIGHKISHY JEHE TH1=E R+ iE+E=3%1%0. 34
A B 1.020 m3
5 EIHEEI] BHO0.20m3 PR TH2=%E FexE#iZE=3%1%0. 51
)= 1.530 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E i x42=3%1%0. 4
Tyiay bR g 1.200 m3
7 ERIERE (B ) BHO.20m3 PR T US=AE - * g+ E=3%1%0. 35
RC-40#L & + & 7 5 [E g 1.050 m3
8 B (FhR I ) BHO.20m3 MR T U4=SE Ferfig =3+ 150. 1
M-303 & + & > 7 S [E o g 0.300 m3
9 EERBEIEMMIEL As BEAA ALy (R HIED) =Rl i Rk /R X =3%0. 05
)= 0.150 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERA TE R (PR ANER) =T 2 X =3%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.150 m3
11 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) - B4 =1. 02
18> 10.0kmLLF DIDE g 2.550 m3 +1.53+0+00
12 HEET (HE-HJE) Sl )E A8 1H=E FoH g+ E A I R =3%1+0
BABERIEAs 7745 2 3.000 m2




T TEHEEARE

(7-DEAREMZETERT)

FEAR 1 BLAKE AR L
PR HIES
XIH 20002

HIED., G W2. 0%L1. 0%H1. 40

21

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =525 0T R B« ARSI =2%2+8
15ecmPL T )= 12.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.014 m3 &hTEE=(2%2+8)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + T I =2%2+0
SEE 1 0em L T 2 4.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 FerE + T AN =2%2+0
EEEE 10em L T b 4,000 m2
5 KEEY b BUREKHY PR THI=AE Foxg#E=242%0. 54
ANT] 5 2.160 m3
6 ‘FIHEE] BHO0.20m3 PRI T H2= 7 FxfiF #2=2%2%0. 81
)= 3.240 m3
7 E LR (B ) BHO0.20m3 PR B T U1 =% sl 78=2%25%0. 4
Iyay R g 1.600 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HIE i #{42=2%2%0. 85
RC-408 &+ # o /3Fh[E D = 3.400 m3
9 EHEE (W E)BH0.20m3 P B T U4=%E Rl #8=2%2%0. 1
M-30H & + &> i [E 6 g 0.400 m3
10 FHEERBEEEMALER As BERA LSy (BEHITD) =l i FEk /5 X =4%0. 05
)= 0.200 m3
11 ARRBEFTEWALIE As . BEA ALy (RS 1) =Rl A i FER R X =4%0. 05
g 0.200 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERAE My (PR D) =ff e i+ = S =4%0. 05
AsHi - CoBfl (M%) 2.0km A B DIDfE J= 0.200 m3
13 PEPRALFERE BH0.20m3 DTr4t BEAA T (S 1) =Rl i Rk X =4%0. 05
AsHil - Codifl (/%) 2.0km A T DID 4 & 0.200 m3
14 384 15EHE BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B HA ) 7% =2. 16
+4#5 10.0kmLL F DID%E B 5.400 m3 +3.24+0+00
15 &fidE T (HEE-¥H) Sem1 /& IS IH =4 Fo* g+ i A I Ri=2%2+0
BRI EAs I )= 4,000 m2
16 A% T (EE - #5) Sem 1@ AR |H=FE Ko E+E A I R=2%2+0
HEBRIEAs 7 T745 P 4.000 m2




T TEHEEARE

(7-DEAREMZETERT)

e A B A L
SSP ¢ 50, PP ¢ 20

X[ 00001 SSP¢50 DP=1.30

NO 4/ 3k ~HE B g HAL EHEKX
1 RVZFLAE AT UL AE Paft T figx T=L=3.5
® 50 )= 3.500 m
2 Rk —MAR L IR L=L=3.5
)= 3.500 m
3 AT —b BHART=1=3.5
150mm X 50m,/ %  2f5470IA A L) 3.500 m
4 EREERREIMET T AT 7 VMR SRS T T =E 2 4 R PR AR B N B =3, 5%2+0
15emPL T B 7.000 m
5 BEERIGIRAL AL TR 7K AL BR= (Bl EE AT B4 3+ A+ IR *0. 023%
b 0.008 m3 &M= (3. 5%2+0)*0. 023%0. 05
6 ERLERNEUELAA BHO0.20m3 SR T =JE g+ T A N 5=3. 5%0. 6+0
SPE /R 1 0em A T B 2.100 m2
7 REERUREELALA BHO.20m3 SRR T=HE S+ AR AN =3 5%0. 6+0
AAEIE 1 0cm LA T Vs 2.100 m2
8 FIHEHI BHO0.20m3 JEHI THI=ZE E-xE*i%E=3. 5%0. 6%1. 41
)= 2.961 m3
9 EEME (B RE) BH0.20m3 H B TU1=4E Ee g ZE=3. 5%0. 6%0. 46
Iyay R ER g 0.966 m3
10 EHHR (et ) BHO.20m3 IR T.US=HE R#iiFiZE=3. 5%0. 6+0. 85
RC-40H R + & o\ [ 6D Ve 1.785 m3
11 ERHEE (B RE) BH0.20m3 H B T UA=4E FesgE=3. 5%0. 6%0. 1
M-30H & + &> i [E 6 g 0.210 m3
12 EESHLA (BRI 52) BHO.20m3 HRRTHERR G ) =HiE o B I T A= 1%3. 5%0. 002
Iyioay bR g -0.007 m3
13 EEERBEIEMMEL As BEAA ALy (R EIER) =Rl i Fe /R X =2. 1%0. 05
)= 0.105 m3
14 FERPEEWALEL As BER LSy (S 1H) =Rl A i FER IR X =2. 1%0. 05
)= 0.105 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R /R X =2. 1%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.105 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BERTE M (A5 1H) =i A+ 2 <=2, 1%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.105 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =2. 96
18> 10.0kmLLF DIDE A 2.961 m3 1+0+0+00
18 Ei%ET (HIE-HJE)Senl)E IAE H=4E F+ g+ EFE N 5i=3. 5%0. 6+0
HEBRIEAs 7 T745 P 2.100 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I Hi=3. 5%0. 6+0
FAEBRIEAs 744 )= 2.100 m2




T TEHEEARE

(7-DEAREMZETERT)

e A B A L
SSP ¢ 50, PP ¢ 20

X[ 00002 PP¢20 DP=1.30

23

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL=7
g 7.000 m
2 FEET—b R T=1=7
150mm X 50m,// % 25 Hr0IAF» J= 7.000 m
3 GHEERREINT T AT 7 VM SHAED) W T =525 0T R B« ARSI =T%2+0
15emPL T )= 14.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.016 m3 &hTE[E=(7%2+0)*0. 023%0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T = BB + T A N =7%0. 6+0
AAEIE 1 0cm LA T Vs 4.200 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + I AN H=T7%0. 6+0
EAEE10emLA T B 4.200 m2
7 EIKHEEI] BHO0.20m3 PR THI=AE Fex@*i=7%0. 6%1. 38
)= 5.796 m3
8 BB (FEhE I ) BHO.20m3 MR TUL=4E Rl 4e=7+0. 6%0. 43
Tyiay AR g 1.806 m3
9 EEME (B R) BH0.20m3 P B T US=ZE FexlE8=7%0. 6%0. 85
RC-40# & + & 7 5 [E g 3.570 m3
10 B R (kg ) BHO0.20m3 R T.U4=FE R g #E=7%0. 6%0. 1
M-30 & + & > 7 S [E o g 0.420 m3
11 EEERE R R) BH0.20m3 PR RRAZERR CHTRR &) =4I Fox 8 W i F=— 1% 7%0. 001
Iyioay R LR )= -0.007 m3
12 FEREEIEMAIL As JFERA ALy (B HIER) =Rl A Fif+ )5 X =4. 2%0. 05
)= 0.210 m3
13 ERRBEFEMALEL As BEA AL S5 (S IR =R A i Fi+ 5 & =4. 2%0. 05
)= 0.210 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (R D) =i i+ < =4. 2*0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.210 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (S 1) =Rl i Fe /R X =4. 2%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.210 m3
16 &4 5@ BHO0.20m3 DTrdt T 1 ER=11 45 +H2 45+ T4 45 (B +A ) — 3574 =5. 79
+4#5 10.0kmLL F DID%E B 5.796 m3 6+0+0+00
17 & T (EE-¥E)5eml /& IS B =AE FH g+ I AR N A =7%0. 6+0
BRI EAs I )= 4,200 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=FE FoHlg + AR N H=T%0. 6+0
BABRIEAs 7745 2 4,200 m2




T TEHEEARE

(7-DEAREMZETERT)

e A B A L
SSP ¢ 50, PP ¢ 20

24 H

XM 00003 Hh voyKkiE, BRiE (VP ¢ 75)W0. 6%L1. 15/ & Al

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SHAED) B =545 AT B H A« ARSI =1. 15%2+1. 2
15emPL T )= 3.500 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.004 m3 &EFEEE=(1.15%2+1.2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 SN T=JE Rbg+ i A N =1, 15%0. 6+0
SHAEIE10em LA T B 0.690 m2
4 EREERNEUELAA BHO0.20m3 SREER A T =1 BexlE +IE A NH=1. 15%0. 6+0
EAEE10emLA T B 0.690 m2
5 KEEY b BUREKHY PR THI=ZE F+ig+%=1. 15%0. 6%0. 536
ANT] 5 0.370 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E E-xE*i%E=1. 15%0. 6%0. 804
)= 0.555 m3
7 E LR (B ) BHO0.20m3 R TUI=ERxE+ZE=1. 15%0. 6%0. 59
Iioay R LR )= 0.407 m3
8 BB (Fhg I ) BHO.20m3 5 T US=%EE*E*4E=1. 15%0. 6%0. 65
RC-40H R + & o\ [ 6D Ve 0.449 m3
9 EHEE (W E)BH0.20m3 R TU4A=FERxiF+ZE=1. 15%0. 6%0. 12
M-30H & + &> i [E 6 g 0.083 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =1L F+ & Wi ff=—1%1. 15%0. 006
Iyioay bR g -0.007 m3
11 ERRBEFEWALEL As . BER L5y (BE HIFAR) =i FE+ /5 X =0. 69%0. 05
)= 0.035 m3
12 EERBEEMALE As BEM ALy (A H) =TT AR X =0. 69%0. 03
)= 0.021 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (HE 1S =i R+ /R X =0. 69%0. 05
AsHil - Codifl (/%) 2.0km A T DID 4 & 0.035 m3
14 PEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =ik FE+ 5 X =0. 69%0. 03
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.021 m3
15 /A +5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 ik TR 40 (S +ll ) — #5485 =0. 37
18> 10.0kmLLF DIDE g 0.925 m3 +0.555+0+00
16 Ei%ET (HE-KE)3ml)E A8 IH=E FoHlE+ AR N A =1. 15%0. 6+0
HEBRIEAs 7 T745 P 0.690 m2
17 & T (EE-¥E)5eml /& A IH=E FHIE+ AR INF=1. 15%0. 6+0
BRI EAs I )= 0.690 m2




T TEHEEARE

(7-DEAREMZETERT)

e A B A L
SSP ¢ 50, PP ¢ 20

25 H

XM 00004 Hh voykiE, BRiE (VP ¢ 50)WO. 6%L1. 15/ & Al

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SRAEY) B T =545 AT AR B« AR IN =5, 75%2+6
15emPL T )= 17.500 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.020 m3 EfzEE= (5. 75%2+6)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR A T =S g+ A N =5, 75%0. 6+0
SHAEIE10em LA T B 3.450 m2
4 EREERNEUELAA BHO0.20m3 SREER A T = FerlE +IE A5 INHL=5. 75%0. 6+0
EAEE10emLA T B 3.450 m2
5 KEEY b BUREKHY PR THI=2E K+l +%E=5. 75%0. 6%0. 524
ANT] 5 1.808 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E E-+E*i%=5. 75%0. 6%0. 786
)= 2.712 m3
7 E LR (B ) BHO0.20m3 R TUI=FERxE+E=5. 75%0. 6%0. 56
Iioay R LR )= 1.932 m3
8 BB (Fhg I ) BHO.20m3 MR 5T T US=%E *E*14E=5. 75%0. 6%0. 65
RC-40H R + & o\ [ 6D Ve 2.243 m3
9 EHEE (W E)BH0.20m3 R TU4=FE R xiF+E=5. 75%0. 6%0. 12
M-30H & + &> i [E 6 g 0.414 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k Ko+ Wi Ff=—1%5. 75%0. 006
Iyioay bR g -0.035 m3
11 ERRBEFEWALEL As . BER L5y (BE HIFAR) =i R+ /8 X =3. 45%0. 05
)= 0.173 m3
12 EERBEEMALE As BEM ALy (A 1H) =T TR AR X =3. 45%0. 03
)= 0.104 m3
13 PEREALFLEME BH0.20m3 DTrdt JBERA T (HE 130 =i R /R X =3. 45%0. 05
AsHil - Codifl (/%) 2.0km A T DID 4 & 0.173 m3
14 PEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =ik FEe 5. X =3. 45%0. 03
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.104 m3
15 /A +5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) -~ 545 =1. 80
18> 10.0kmLLF DIDE g 4.520 m3 8+2.712+0+00
16 Ei%ET (HE-KE)3ml)E A8 H=FE FoHlg + AR N R =5. 75%0. 6+0
HEBRIEAs 7 T745 P 3.450 m2
17 & T (EE-¥E)5eml /& AAE IH=E FHIE+ I AR INH=5. 75%0. 6+0
BRI EAs I )= 3.450 m2




T TEHEEARE

(7-DEAREMZETERT)

e A B A L
SSP ¢ 50, PP ¢ 20

X[ 00005 PP¢20 DP=0.65

26

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T USSR T=1=13.3
)= 13.300 m
2 Mk —b HHPRLA=13.3
150mm X 50m,/ & 2fZH11iA F» V= 13.300 m
3 GHEERREINT T AT 7 VM SHAEY) W =545 0T B AR H A« AR In =13, 3%2+0
15ecmPA T g 26.600 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
5 0.031 m3 &fzEE=(13. 3%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 EEMR M T =S Robg+ i A N =13, 3%0. 6+0
AAEIE 1 0cm LA T Vs 7.980 m2
6 AEAREUELFA BH0.20m3 SRR A T =1 BexlE +IE AN H =13, 3%0. 6+0
EAEE10emLA T B 7.980 m2
7 EIKHEEI] BHO0.20m3 PEH THI=2ER*hE*E=13. 3*%0. 6x0. 73
)= 5.825 m3
8 BB (FEhE I ) BHO.20m3 R TUL=4E Rexfig+42=13. 3%0. 6%0. 43
Tyiay AR g 3.431 m3
9 EHHEE (W) BH0.20m3 R TUS=AER+lF+E=13. 3%0. 6*0. 2
RC-40# & + & 7 5 [E g 1.596 m3
10 B R (kg ) BHO0.20m3 PR TU4A=E Foxg#4E=13. 3%0. 6%0. 12
M-30 & + & > 7 S [E o g 0.958 m3
11 EEERE R R) BH0.20m3 PR RZERR TRk &) =4 Fox & W i f=— 1 13. 3%0. 001
Iyioay R LR )= -0.013 m3
12 EERBEEMALE As BEM LS5 (BRAEIER) =R A+ X =7. 98%0. 05
)= 0.399 m3
13 EEERBEIEMMEL As BERT ALy (AR 1R) =k i AE*JE X =7. 98%0. 03
)= 0.239 m3
14 PEPRALHER: BH0.20m3 DTrdt BERTE My (PR HIER) =i A+ R X =7. 98%0. 05
AsHi - CoBfl (M%) 2.0km A B DID M J= 0.399 m3
15 PEREALFLEME BH0.20m3 DTr4t BER T (AE 1H) =R R+ R X =7. 98%0. 03
AsHil - Codifl (%) 2.0km A T DID 4 & 0.239 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 B+ ) i 2545 =5. 82
+4#5 10.0kmLL F DID%E B 5.825 m3 5+0+0+00
17 ST (HEE-#E)3cnl /@ A IH=E g+ I AR I H=13. 3%0. 6+0
BRI EAs I )= 7.980 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=E FHlg+ AR N R =13, 3%0. 6+0
HEBRIEAs 7 T745 P 7.980 m2




T TEHEEARE

(7-DEAREMZETERT)

27

AR E R L
SSP ¢ 50, PP ¢ 20

X[ 10001 SSP$50 FEHN As 1145

NO b4,/ 3i#s -~k B g HAL EHEKX

1 RNIZFLUE ATV AHE BT figg L=L=1.5
® 50 )= 1.500 m

2 EHIERRUINT T AT 7 VMR R SR G T =52 4 B IR AR B I Bi=1. 5%2+0. 5
15emPL T B 3.500 m

3 BEERIGIRAL A TR K AL BR= (Bl EEAE B I+ AL+ IR *0. 023+

)= 0.004 m3 EFEEE=(1.5%2+0. 5)*0. 023%0. 05

4 EREERNEUELAA BHO0.20m3 SR T =JE R hg+ T A N =1, 5%0. 5+0
EAEE10emLA T B 0.750 m2

5 RHEY T BSHIRKHY P THI=ZE R+ g x%8=1. 5%0. 5%0. 61
ANT] 5 0.458 m3

6 HERL HGHKNHY T WA TUI=RE E*E+{E=1. 5%0. 5%0. 61
fri[E O ML D 0.458 m3

7 EERL BEHKHY T PR RAZERR (HaR ) =4t Fex & Wi Afi=— 1% 1. 5%0. 002
FRE O ML b -0.003 m3

8  HERFEIEMAMIE As BERA LSy (BEHIFR) =ik A i Fe 5 X =0. 75%0. 05

)= 0.038 m3

9 PEREALFLEWE BH0.20m3 DTrdt BERA T (BRI =i R+ /R X =0. 75%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.038 m3

10 &% (B3E)5eml)E A8 IH=E F+ g+ E A I =1, 5%0. 5+0
HEBRIEAs 7 T740 JE 0.750 m2




T TR E 28

(7-DBEKERHE LF(RT)
fa/K AR L
SSP ¢ 50, PP ¢ 20
XM 10002 PP¢20 =W + 54

NO b4,/ 3i#s -~k B g HAL EHEKX
1 RIEY T BUEHIKHY PRHI THI=JE R« 4=7. 5%0. 5%0. 5
ANTJ 2 1.875 m3
2 HRL BGHKHY b R TUI=HE E#E+E=7. 5%0. 5%0. 5
ffi[E O ML P 1.875 m3
3 ERL BEHKSHY T PR RZERR CHTRR &) =4 Fox & Wi F=—1%7. 5%0. 001

FEE O ML -0.008 m3

i




T TEHEEARE

(7-DEAREMZETERT)

e A B A L
SSP ¢ 50, PP ¢ 20

29 H

X[ 10003 PP$20 AN Co 34y

NO b4,/ 3i#s -~k B g HAL EHEKX

1 EEERRGINT v Y- MEREERR EEEDIWT T=1E B+ AR S+ N8 =4. 5%2+0. 5
15ecmPL T )= 9.500 m

2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%

5 0.022 m3 &f%EE=(4. 5%2+0. 5)*0. 023%0. 1

3 EREERRMEAR o0V -MESERR BEEAEMEL AEERE A T =1 BB + I A NS =4. 5%0. 5+0
BEXEVABE 15emPL T g 2.250 m2

4 FRYEY T BUGHIKHY JEE] TH1=JE Fextg+i=4. 5%0. 5%0. 4
A B 0.900 m3

5 HWRL BGH™HY L B T U1=AEE+lEs5E=4. 5%0. 5%0. 4
FRE O ML b 0.900 m3

6 HRL FGHIKDY i B PERR GOk &) =4 5+ Wi F=—1%4. 5%0. 001
[ DML Ve -0.005 m3

7 BEEREEIEMALEE MEHiCo . BEAA ALy (PR EIER) =AleA i F 5 & =2. 25%0. 1

)= 0.225 m3

8 PEFENLEYEH: BHO0.20m3 DTr4t BERE My (PR = i+ <=2, 25%0. 1
Co3ifl (8£4%) 10.0kmLL T DID#E = 0.225 m3

9 a2 rU—hOUNUEEY) ANJITER Cofifidd T =3 e+ /E X =1. 5%0. 5%0. 1
18-8-25(20)BB — &A= b 0.075 m3




